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Strategic Professional – Options, APM
Advanced Performance Management (APM) Specimen Answers

1 To: The CEO, Department of Internal Affairs (DIA)
 From: An Accountant
 Date: 1 September 20X5
 Subject: Performance measurement and management at Deeland Police (DP)

 This report recommends and justifies critical success factors (CSFs) and key performance indicators (KPIs) for DP based on the 
four critical areas of performance. DP is then evaluated on the value for money (VFM) provision of its service. Finally, the use of a 
league table of police performance and the setting of targets for DP is assessed, with comment on the employee reaction to such a 
management approach.

 (i) Critical success factors (CSFs) and key performance indicators (KPIs)

  The CSFs must follow from the four areas which are addressing the overall mission. The four key areas to consider are:

  1. Protecting and supporting those at risk of harm
  2. Ensuring criminals are caught and brought before the courts
  3. Achieving long-term sustainable solutions to the causes of crime
  4. Addressing new forms of crime arising in the virtual world

  The first three areas are on-going in the activities of DP and the Minister wants improvement in each. The adviser’s suggested 
CSFs all appear to be reasonable improvements to manage the Minister’s concerns about the vagueness of the key areas as 
follows:

  1. Greater protection and more support for those at harm (this is a straight-forward improvement to the existing position in 
this area).

  2. Be better at catching criminals (bringing them before the courts does not appear to be critical as it seems to automatically 
follow).

  3. Reducing the causes of crime by increased involvement with local communities (improvement using the mechanism 
suggested).

  The fourth area is relatively new, so it will be more in the nature of a separate project to:

  4. Create a task force to develop skills in detection and prosecution of virtual crime (as desired by the Minister).

  The KPIs for the four CSF areas

  Area 1

  The CSF breaks into two parts – protecting and supporting. There should be a KPI measuring the change in each of these areas:

  – Percentage change year on year of the number of victims of violent crimes, once they are identified as at risk (a register 
of ‘at risk’ people would need to be created).

  – Percentage change of staff hours spent with each victim on average in support activities.

  Neither of these KPIs can currently be measured as the data is not collected. The first point could be indirectly addressed by 
measuring the number of victims of violent crimes, which should see a fall if those at risk are better protected.

  Area 2

  This CSF is looking at what is often referred to as the clear-up rate, which is the percentage of crimes where the criminal is 
caught. The data given allows this to be measured through

  – the percentage change in the percentage of crimes solved (although care must be taken that ‘solved’ is not the same as 
‘criminal caught’ as there may be cases where the police know the criminal, but they escape capture).

  The second part of bringing the criminal before the courts once caught does not appear to be a critical area needing measurement 
since this appears to be a low risk possibility. The critical area might be better stated as ‘Ensuring crimes are solved and 
criminals are brought before the courts’ since the second part would then be an appropriate area to measure.

  Area 3

  From the data in Appendix 1, the KPI could be:

  – the percentage change in the total number of crimes in Deeland in the year.

  The effect of reducing the causes of crime would be to create a long-term trend downwards in this measure. It may be better 
to use a three-year moving average of the change as a result. However, there may be many factors which cause such changes 
including the number of police officers and so the underlying causes of crime may not be accurately measured. The suggested 
KPI does not capture whether the changes are sustainable in the long term, which will be difficult to do.

  Area 4

  The KPIs for the fourth area require examination of the number and qualifications of those working on the task force on virtual 
crime. The data in Appendix 1 is not sufficient to measure this.
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  KPIs could include:

  – percentage of roles in the task force filled (this requires that there is a plan for the organisation of a suitable task force, 
which may be complicated as this is a new area where knowledge of how many staff and what qualifications they should 
have may not be present).

  – percentage of virtual crimes reported which are solved (shows the effectiveness of the task force).

 (ii) Value for money (VFM)

  The standard criteria for analysis of the value for money of a service are:

  – Economy – the optimisation of the resources which the organisation has; ensuring the appropriate quality of input 
resources are obtained at the lowest cost;

  – Efficiency – the optimisation of the process by which inputs are turned into outputs;

  – Effectiveness – how the outputs of the organisation meet its goals.

  The 3Es above link to the CSFs and KPIs in the area of effectiveness. The KPIs measure the achievement of the goals of DP 
and all relate to outcomes rather than processes or inputs in this case.

  In order to judge VFM, comparison can be made internally to the historic performance of DP, but it should also be benchmarked 
against external organisations. The need for external data is also reflected in the desire to benchmark in league tables although 
no data is given for this here and so the VFM can only be judged against previous years’ data.

  Considering the situation at DP specifically

  Economy could be measured by looking at the cost of buying inputs; the principal input is staff (90·1% of total costs) and so 
the cost per employee ($40,318) is relevant. This represents a 3·8% reduction on the previous year although it should be 
noted that the mix of staff is changing with more administrative staff replacing police officers who may be more expensive as 
they are more qualified. It would be useful to obtain the data on the average police officer salary as they make up 75·5% of 
the total staff and they are critical to the achievement of outcomes.

  As noted above, in order to judge whether this is good or bad, the Department should also compare this to external figures such 
as the national average wage and, also, the average salary of staff in other police forces in similar countries.

  Efficiency can be measured in a number of different ways.

   20X5 20X4 20X3
  Solved crimes per police officer 7·855 7·918 7·915
  Solved crimes per employee (police officers and admin staff) 5·929 5·994 6·022
  Police officers per 1,000 population 3·19 3·23 3·30

  The trend in the number of police officers is downward which would suggest improvement. However, the more important 
outcome is not the resources poured in but the crime results and these show that by decreasing the number of police officers, 
the number of crimes which each is solving is falling (down 0·8% from 20X3). Performance in this area is therefore poor.

  Effectiveness must be measured against DP’s goals in its four areas:

  1. Protection and support of those at risk – the percentage of violent crime remains flat over the three years of data at 20% 
of the total number of crimes reported. This suggests that protection remains broadly unchanged. As noted above, there 
is no measure of support provided.

  2. Solving crimes – the clear-up rate has fallen from 56·7% to 55·0%. This probably reflects the change in staff mix as police 
officer numbers have fallen.

  3. Causes of crime – the trend is clearly upwards with an increase of 2% each year over the last two years which may again 
reflect the falling numbers of police officers in DP.

  4. Virtual crime – as noted above, it is not possible to measure the achievement of the creation of the task force from the 
data provided.

 (iii) League tables

  The use of league tables effectively benchmarks performance and can have a positive effect on behaviour. The sharing of data 
on performance can indicate areas of best practice and so offers the possibility of improving performance by copying that best 
practice. Additionally, the use of league tables gives, by the rank in the table, a clear, immediate answer to questions of relative 
performance.

  However, the use of league tables only measures relative performance. The best force in the table could still be producing an 
unacceptable performance in absolute terms. The different forces in different countries will face different external environments. 
Each force will have to react to the economic situation in that country and may allocate resources differently according to the 
priorities of the government of that country. So, it will be difficult to get a single measure, such as the rank in the league table, 
to balance these competing factors.

  This leads on to another area which will prove difficult, which is how to rank the different forces. Usually, there is a scoring 
system giving points across different areas for each force’s performance. The selection of the areas and the weighting given to 
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them within the rank score will affect the position of the different forces. In an example of ‘what gets measured, gets done’, it 
may be that the DP management will change their priorities from those given by the DIA to those measured in the rank score 
and so undermine the alignment of their behaviour with the given mission of DP. Therefore, to be of value to the Minister, the 
calculation of the rank must encompass the key variables which will drive DP’s desired performance.

  Therefore, there is a link between league tables and employee behaviour which comes from the setting of targets based on the 
league table rank.

  The impact on the employees includes whether they feel a sense of accountability for the score. If the police officers do not feel 
that they can affect the rank, then they may ignore it or actively undermine it in public through their union’s public statements. 
This will present the government with difficulty as the police are considered the experts in this area of public policy and their 
criticism will carry weight with the electorate.

  Specifically, the police officers may be demotivated by the league tables if they feel:

  (a) that the league table rank does not reflect the valuable work which they do (for example, in creating the new virtual crime 
task force); or

  (b) that the rank is driven by factors outside of their control. (For example, the budget for the force may be cut, as appears 
to be happening with DP, or there may be a link between the number of crimes reported and the economic conditions in 
Deeland which they do not have power to affect).

2 (a) Just-in-time (JIT) is defined as a system which has the objective of producing or procuring products as they are required and 
not for inventory purposes. Coruisk is being asked to produce to JIT principles, the basis of which is where production is driven 
by demand for the finished product. Each part of the production process is therefore determined only by what is required for 
the next stage of production.

  Purchasing

  Coruisk has too many suppliers at present. Adhering to JIT production principles involves reducing suppliers to a minimum 
and establishing strong relationships with them, based on flexibility and understanding of each other’s needs. Coruisk’s four 
main suppliers are too many to develop this type of close relationship with, especially since these suppliers operate to different 
working practices. The effect of this, from a JIT production perspective, would be that Coruisk would require to undertake 
discussions with each supplier about the fundamental changes which would be required for the supply of goods in a JIT 
production environment. Coruisk would not have the time to do this with all four suppliers nor would the supply of goods from 
four companies be desirable. Coruisk should choose two of the companies it feels it has the strongest relationship with and 
initiate discussions with them around its needs when producing to JIT principles.

  When producing to JIT principles, suppliers will effectively be an extension of Coruisk’s own business. As such, Coruisk 
must be aware of and must understand how changes in suppliers’ operations will affect Coruisk’s own operations. It is clear 
that Coruisk does not currently have this level of relationship. The supplier who is seeking to optimise the cost of its delivery 
vehicles, for example, is undertaking practices which are very much opposed to the type of practices which Coruisk will need 
when it is producing to JIT principles. JIT only produces goods when needed by the next stage in the process (the ‘kanban’ 
principle) and Coruisk would need its supplier to understand this and be willing to supply it with goods accordingly. This would 
clearly be impossible for a supplying company which is insistent on supplying full-load quantities only.

  Coruisk must also ensure that the raw material it receives is defect free, unlike the goods which are received currently from 
one supplier. Having the wrong quantity of material or material which is sub-standard, is unacceptable if Coruisk is producing 
to JIT principles as such problems will mean an inevitable delay in supplying goods to Ericht. Coruisk will therefore need to 
spend time in defining and agreeing requirements with suppliers to clarify requirements in terms of both quality and quantity 
and may need to also develop improvement teams with their suppliers to ensure that the raw material it receives is reliable.

  Coruisk will most likely need to undertake official supplier assessments as part of this as such assessments and on-going 
reviews are a vital part of ensuring the quality of the raw material in a JIT production system.

  Production

  The manner in which Coruisk produces its goods will need to change significantly. Efficiency can no longer be measured by 
volume of output. Ericht will seek supply of goods as and when required in order to avoid obsolete inventory and Coruisk 
must adapt to this. The concept of producing as much as possible is one which Coruisk may struggle to abolish. It is clearly 
embedded in the culture of the organisation with its importance confirmed by the awarding of a bonus based on the quantity 
of goods produced. Presumably this bonus has been awarded without taking account of any goods which have been rejected 
and it is possible that the current system is encouraging production to be undertaken quickly with rejected goods seen as an 
acceptable part of the production process.

  Producing to JIT principles would demand a fundamental rethink at Coruisk in terms of the way production runs are determined. 
Of most significance, initially, is that such runs would be shorter as all parts of the production process should match the rate at 
which Ericht is demanding the final product. For example, Coruisk can no longer focus on producing large runs of one dress. 
Necessary changes here may involve the development of machine cells. Such cells are composed of groups of team members 
to facilitate operations by eliminating setup and unneeded costs between operations. Cells might be designed for a specific 
process or part of a product. In Coruisk’s case, this may mean workers being grouped together by the dress they are producing 
at that time rather than as part of a long production run. Enhancing worker flexibility and developing their skill set in several 
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areas of the operation may be the best way to react to this new environment where demand is much more unpredictable. This 
may also involve changing the layout of the factory to try to ensure production is as flexible as possible. 

  Coruisk cannot supply faulty goods to Ericht and the previous belief that a 5% rejection rate was acceptable practice must 
be replaced by an understanding of the zero defects philosophy. This will require more fundamental change as quality of the 
finished good will need to be assured throughout the production process and not simply inspected at the end. This will most 
likely involve an initial discussion with Ericht as to the quality level it is seeking and, potentially, a redesign of the current 
processes and systems to which Coruisk is operating. For example, prevention and appraisal costs would be expected to 
increase as Coruisk would have to establish both goods inwards testing procedures and testing procedures for work in progress. 
There would also be a need for Coruisk to develop a culture where workers are flexible in terms of their capabilities and trained 
much more in identifying defective products (and ensuring they do not progress further on the production line) than in ensuring 
the maximum quantity of output is produced.

 (b) The results of the cost of quality report are representative of a company which undertakes quality control as opposed to quality 
assurance in that the majority of the costs relate to failure, either of an internal or external nature. Additionally, since the costs 
have been amassed for the first time for this task, it is possible that they are inaccurate and probably understated as some costs 
are likely to have been omitted.

  Costs of conformance

  Coruisk will need to invest more in quality audits and, possibly, in testing equipment to ensure that the product is being 
produced to the right standard as it progresses through the production process. Whereas there may still be a requirement 
for final inspection, it should not be someone’s full-time occupation and the supervisor may be more meaningfully deployed 
elsewhere for at least part of his/her role. These practices should reduce both the internal and external failure costs, particularly 
those of scrap and rework, which both appear very high currently. Machine downtime is perhaps due to the very little amount 
currently spent on preventative maintenance and the cost of internal failure should also fall with enhanced maintenance.

  Costs of non-conformance

  The significant external failure cost is of most concern. To operate to the JIT principles which Ericht is seeking, Coruisk has to 
ensure that these costs are as close to zero as possible. It is concerning, for example, that 3% ($135,000) of the revenue figure 
is taken up by dealing with complaints from Ericht. Some of this may be due to misunderstandings between the companies 
which could be rectified by the closer working relationship which JIT production principles demand. Nevertheless, it is clear 
that Coruisk must ensure that it addresses these costs as it is completely reliant upon Ericht for its business.

  The amount of money attributed to product recalls and cost of goods returned (4% of the revenue figure) is concerning as this 
suggests that defective products have not been detected in Coruisk’s current quality control system. This may be due to the 
bonus system currently in place and the desire to produce quantity, quickly, and not quality. A change to the production process 
should address this but it could be met with hostility if the workers’ bonus is under threat and Coruisk may need to introduce 
an alternative bonus scheme based on a quality-related metric which specifies, for example, the percentage of defects detected.

  The forgone contribution from lost sales is also concerning as it indicates that Ericht has alternative supplier(s). It is possible, 
given the cost detailed of dealing with complaints from Ericht, that this figure is considerably higher than Coruisk is estimating.

  The balance of the costs must change so that the majority of Coruisk’s costs are prevention and appraisal (costs of conformance) 
and not costs of internal/external failure (costs of non-conformance). Coruisk must ensure that it is producing to the standard 
which Ericht requests at the first time of asking and therefore Coruisk must ensure that it provides more training for staff, more 
preventative machine maintenance, more supplier appraisal and vetting as mentioned previously and moves to encourage a 
culture of zero defects with no faulty goods moving forward in the production process.

3 (a) Selection of appropriate measures and targets

  Value drivers create long-term value. Totaig is facing competition from overseas businesses, which will soon be able to produce 
at a similar unit cost to Totaig and produce items of comparable quality. The unit cost of production and product quality would 
be value drivers for Totaig and targets should be set for these two measures.

  Targets should be both financial and non-financial. This will ensure that there is not too much emphasis on financial targets, 
which tend to be backwards looking, rather than relating to the present value of future cash flows, which is the focus of 
value-based management (VBM).

  The existing targets of return on investment (ROI) and operating margin are backwards looking. They will also discourage 
managers to make investments, for example, in product development, which might be detrimental to Totaig’s long-term 
performance. This is because investments in new products will reduce both of these measures in the short term.

  Having targets related to product quality would ensure that the business does not focus too much on cutting the unit cost of 
production, for example, by using cheaper, lower quality materials. It appears that to create long-term value, Totaig must be 
competitive on both unit cost of production and product quality.

  Timescales to which the targets should relate

  Totaig must set short-term and long-term targets, which should be linked together, for key value drivers. Competitors will be 
able to produce at a similar unit cost to Totaig within a year. A suitable short-term target would therefore be to reduce unit 
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production costs within that timescale. As VBM is concerned with long-term value, Totaig should set longer term targets relating 
to quality in anticipation of the new competitors’ ability to improve on this aspect within three to five years.

  The possible need to invest heavily in product development and make acquisitions will probably require longer term targets to 
be set.

  Levels in the business to which the targets should relate

  Value can be created at all levels in the company and targets should be set according to the different layers of management. 
Targets relating to unit cost of production and product quality are under the control of operational managers and these would 
be suitable for this level of management.

  Targets relating to possible future acquisitions are under the control of the directors, who are the strategic decision makers.

  Difficulties in measuring and managing performance using VBM

  Totaig will require good information to implement VBM. It may be difficult to identify value drivers and reporting systems need 
to be able to provide the information which is required. Currently, IT systems are basic and outdated for a business of its 
complexity. This may mean that it is difficult to identify value drivers for the setting of targets. The implementation of VBM may 
require significant investment in IT systems to measure performance against targets and take up management time. The costs 
of implementing VBM may exceed the benefits.

  The operational managers are unlikely to have any experience of VBM since most of them joined Totaig, which itself has never 
used VBM, when the business first started. They will require training on VBM if they are to understand the targets set. For 
example, new value-based performance measures, such as EVA™, will be needed, which will be unfamiliar to directors and 
managers in the business.

  Using VBM to manage performance at Totaig will require a culture change amongst all employees, who will need to work 
towards creating shareholder value. The directors will need to demonstrate commitment to the use of VBM in order to motivate 
operational managers to accept the change. Currently, some directors at Totaig seem not to be convinced of the usefulness of 
the approach.

  It may be difficult to measure economic depreciation, for example, or to determine whether and for when the anticipated heavy 
investment in product development will create value. These difficulties will affect the reliability of performance measures for 
value, such as EVA™, in managing performance.

 (b) Calculation of EVA™

   $’000
  Profit after tax 6,630
  Advertising costs expenses 450
  Decrease in allowance for doubtful debts (200 )
  Interest net of tax (1,500 x 78%) 1,170
   ––––––
  NOPAT 8,050
   ––––––

   $’000
  Opening capital employed 88,944
  Opening allowance for doubtful debt 500
   –––––––
  Adjusted opening capital employed 89,444
   –––––––

   $’000
  NOPAT 8,050
  After-tax WACC x adjusted capital employed (9% x 89,444) (8,050 )
   ––––––
  EVA™ 0
   ––––––

  As EVA™ is zero, Totaig has neither created nor destroyed value.
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Strategic Professional – Options, APM
Advanced Performance Management (APM) Specimen Marking Scheme

1 (i) CSFs and KPIs

  4 marks for the justification of the changes to the four CSFs
  Up to 4 marks for discussion of KPIs for each area

  Maximum 16 marks

 (ii) VFM

  3 marks for defining each of the 3Es
  Up to 3 marks for comments on the link to the CSFs/KPIs
  Up to 3 marks each for discussing each heading at DP
  Up to 3 marks for supporting calculations

  Maximum 14 marks

 (iii) League tables

  Up to 7 marks for the general evaluation of league tables
  Up to 7 marks for the link of tables to targets and police officer reaction

  Maximum 10 marks

 Professional marks

 Communication:
 – Report format and structure – use of headings/sub-headings and introduction
 – Style, language and clarity – appropriate tone of report response, presentation of calculations, appropriate use of the CBE tools, 

easy to follow and understand
 – Effectiveness of communication – content of the report is relevant and tailored to the question scenario
 – Adherence to the CEO’s specific request to not provide more than two KPIs

 Analysis and evaluation:
 – Appropriate use of the data to support discussion and draw conclusions on performance in relation to VFM, including recognition 

of further analysis which could be carried out to enable a full evaluation of VFM to take place
 – Balanced appraisal to make a recommendation on the introduction of league tables, demonstrating reasoned judgement when 

considering key organisational matters and impacts

 Scepticism:
 – Demonstration of the ability to probe into why the CSFs were refined
 – Recognition that the data provided does not allow some of the CSFs/KPIs to be adequately measured

 Commercial acumen:
 – Effective use of examples drawn from the scenario information and other practical considerations related to the context to 

illustrate points being made throughout the report

 Maximum 10 marks

 Total 50 marks
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2 (a) Description of JIT – 1 mark

  Changes to purchasing and production – 1 mark per point, up to 13 marks

  Maximum 13 marks

 (b) Quality costs changes – 1 mark per point, up to 7 marks

  Maximum 7 marks

 Professional marks 

 Analysis and evaluation:
 – Balanced and reasoned assessment of the changes which will be required to both purchasing and production as a result of 

introducing JIT
 – Appropriate use of the data to support discussion on quality cost changes and draw relevant conclusions

 Scepticism:
 – Demonstration of effective challenge of the assumptions of both the production manager and CEO

 Commercial acumen:
 – Effective use of examples drawn from the scenario information and other practical considerations related to the context to 

illustrate points being made 

 Maximum 5 marks

 Total 25 marks

3 (a) 1 mark per point under the four headings:

  Selection of measures and targets
  Timescales
  Management level
  Difficulties

  Maximum 15 marks

 (b) Calculation of NOPAT:

  Advertising cost – 1 mark
  Decrease in allowance – 1 mark
  Interest – 1 mark
  Calculation of adjusted capital employed – 1 mark
  Calculation of EVA™ – 1 mark

  Maximum 5 marks

 Professional marks

 Analysis and evaluation:
 – Demonstration of reasoned and balanced judgement to support arguments and communicate advice on the introduction of 

VBM
 – Use of the information provided to perform an evaluation (calculation and conclusion) of EVA™

 Commercial acumen:
 – Effective use of examples drawn from the scenario information and other practical considerations related to the context to 

illustrate points being made on the implementation of Step 2 of VBM

 Maximum 5 marks

 Total 25 marks
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